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Il Semester B.Com. Examination, September/October 2021
(Repeaters) (2012-13 and Onwards)
COMMERCE
Paper — 2.6 : Quantitative Analysis for Business Decisions — |

Time : 3 Hours Max. Marks : 100

Instruction : Answer should be written completely either in English
or in Kannada. \
\®

SECTION - A e
3 S,

Answer any ten sub-questions. Each question carries two mawy (10x2=20)
1. a) State any four objectives of Statistics.

b) What is meant by Tabulation ?

¢) What is primary dag_a [

d) State any four requisitfas of a good average.

e) How range is calculated ?

f) What are the sources of data ?

g) What is cost of Ll\img Index Number ?

h) What are class intéwals ?

i) What is meant by Skewness ?

j) Find the value of mode, when mean = 65 and median = 70.

k) Mean and S.D. of the distribution are found to be 56 and 12, what is its CV ?

[) What is Sampling ?

P.T.O.
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SECTION - B
Answer any four questions. Each question carries eight marks. (4%8=32)

2. Present the following data by a multiple bar diagram.
No. of Students

College Commerce Arts Science Agriculture
A 1500 1200 600 800
B 800 500 300 600

3. Calculate mean deviation from arithmetic mean of the following data
Wages (Rs.) : 15 30 45 60 75 80
No. of Weeks : 1 4 8 21 10 8

4. Calculate standard deviation from the following data :
Age (Years) : 10-20, 20-30, 30-40; 40-50, 50-60, 60-70, 70-80

No. of persons: 2 B 7 11 6 3 1
(in 000°’s) i

5. Calculate cost of living index numbers from the following data :

ltems Index Weights
Food 42389 60.0
Clothing 410.00 20.0
Lighting /32000 8.0 !
Rent 250.00 14.0
Miscellaneous ~ 400.00 ,30.0

6. Following are the marks out of 100, obtained by 50 students in Statistics
70, 45, 33, 64, 50, 25, 65, 75, 30, 20
55, 65, 60, 58, 52, 56, 45, 42, 35, 40
47, 51, 39, 61, 33, 59, 49, 41, 15, 55
42, 63, 82, 65, 45, 63, 54, 52, 48, 46
57, 53, 55, 42, 45, 39, 64, 55, 26, 18 :
Construct a frequency distribution table taking class interval of 10 marks and
the first class interval as 0-10.
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SECTION-C
Answer any three questions. Each question carries 16 marks. (3x16=48)

7.

10.

Compute the mean, median and mode from the following data :
Time (Minutes) : 10 — 15, 15 - 20, 20 - 25, 25 - 30, 30 — 35, 35-40,40 - 45
No. of workers: 8 14 18 25 15 14 6

The scores of two batsmen ‘A’ and ‘B’ in ten innings during a certain season are
given below. Find which of the two batsmen A or B is more consistent in scoring ?

Batsmen‘A’: 32 28 47 63 71 39 10 60 96 14
Batsmen‘B’: 19 31 48 53 67 90 10 62 40 80

Compute the Karl Pearson’s coefficient of skewness for the following data :

Income o

(Rs.) : 500—66'0,' 600-700, 700-800, 800-200, 200-1000, 1000-1100
No. of ! ,
employees : 8 12 4 2 1 1

Construct Fisher’s Ideal iIndex from the following data and show that it satisfies
TRT and FRT.

2010 | 2015

Commodity Price Quantity Price Quantity
A 6 i 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36
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CIRYTHTTR B YUT-FHIReN YUgoR. I3 T T 0B,

1. a) m’omém:ﬁad CINTTHTT T, mr%esmﬁ@ DR
b) edesces DOTTED ?
C) RO SRS QOTTERD ?
d) 2,003 $UZEO FTIROCD TILY @isaﬁ%f'@ SP0.
e) DMTIT, Ient eﬁ@:b:@d ¥y
) Rewdch RRUTWRID ?
g) 23T R 08 0TS
h) 593° QowT aﬁeﬁr{%ﬁ’a T3 ?

) =BUOR aozﬁéesg ?
4y

AR A

(10x2=20)

i) Hoven S8 = 65 33 S wPe = 70 ST, SHC wRE ARROI)

BOTOECA0.

k) Boom0 03 BRTF ST 56 2033 12 <TT, £930 BRI @zpziéaﬁa@ &2

) SO Q0TTERO ?
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QPN - W

OIRYTTAR FeR, TIRYR LU0, B3 TINR DO 20BN,
* ofﬁ o, -0 C_'ﬁ qﬁ <,

2. 33 39N TTOTY, WIRITIINGOY, Ford TTODT Tedr.
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(4x8=32)

DT, RENY Togs,
FoeSeed woedy, ge3 R TTD
A 1500 1200 600 800
B 800 500 300 600

. B3 FBNS D7&ECHL FTIFO ?,fdadoébéojocﬂgt LSOBNESS RTIRDOID TARLT FOBIGBOUD.

3ROR) : 15 30 45 60 75 80
mdﬁ@ﬁo&%: 1 4 8 21 10 8

. 53 BINT TRHS00T TIRTT DBOFOIR), FoBORERO00.

Tob (SRFnL) :1d7"—20,20-30, 30-40, 40-50, 50-60, 60-70, 70-80

S3n¢ Hoss,
(000°5Q)

2 £ B 7 11

5. 83 39N RBR&0ECWOT e ﬁzi RO 0T FOTROEOD.

B0
SRonish miszsog R e
& 423.89 160.00
W, 410.00 20,00
238> 320.00 8.00 -
telal 250.00 14.00
BT 400.00 30.00
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6. 23,50 é)ngébrﬁ%b nosg 100 2037 '-domesm?\gi@ ROTI 208N B3 N0,
70, 45, 33, 64, 50, 25, 65, 75, 30, 20
55, 65, 60, 58, 52, 56, 45, 42, 35, 40
47,51, 39, 61, 33, 59, 49, 41, 15, 55
42, 63, 82, 65, 45, 63, 54, 52, 48, 46
57, 53, 55, 42, 45, 39, 64, 55, 26, 18

ébzsas@rﬁ@a I3 eﬁoéz'{%ﬁ‘ﬁgt Tonedr &R Q0T %@@%ﬁ;ﬁ@t Tesa. SRS éaéezar@
10 £303n03¢. HATE SRFw) 0 — 10003 T,TORA.

TN - 2
2N CIRFYTRTAR T BINER UZ0%. BEEINR 16 308N (3%x16=48)

7. 3 ¥9NS BoBNYoT NS RoeR0, SO S BOERO T WBIFE RTIROODTY BoRIEEAOWO.

Beg (RNRRLY) 10— 15,15 — 20, 20 — 25, 25 - 30, 30 — 35, 35 - 40,40 — 45

4

fommodzes 08 14 18 25 15 146

8. ‘W = ‘W TS 5830030 10 _%)ezéﬁ%fff)m nYT d:sbq ﬁ%fag S0 faaﬁéaigﬁe; o3
383700 ﬁz:—ﬁ% 9&53') Goiclelataple] @omdz\i& BOBIBROWD.

same ‘e’ 32 28 47 63 71 39 10 60 96 14

wams ‘w: 19 31 48 53 67 90 10 62 40 80
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9. B3 3PN VTONPOT B &oﬁacﬁs:éma&emﬂaow Qﬁ&éoﬁaﬁg{ BOBIBECD.

e3TTO030

® : 500-600, 600-700, 700-800, 800-900, 900-1000, 1000-1100
emd.raamr{eé

;-30935: 8 12 4 2 1 1

10. B3 3N RNESC00T, RO TRT STBF RRdcBaR)ForeRm b TRT 358 FRT v
ZRERTE 2oTH FREDRA0.

2010 2015
=R iG] 0TI 33 ==
S 6 50 10 56
W 2 100 2 120
2 4 60 6 60
& b 10 30 12 24
3 8 40 12 36
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